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Time: 3 Hours Maximum Marks: 60

Note: This paper is obixty (60) marks containinghree (03) sections. Learners
are required to attempt the questions containgtiéee sections according to the
detailed instructions given therein.

Al T YA UT TS (60) 3iwht &1 § St dier (03) @t & [{enfaa g |
Renfiat &1 o7 @t F v v fawga Wt & egEr & geat @
TG AT § |
SECTION — A/ HTeT- &
(Long-answer - type questionsy (e Jcaiia

yeeT)

Note: Section ‘A’ contains four (04) long-answer-typeegtions of fifteen (15)
marks eachLearnersarerequired to answer two (02) questions only.
(2*15=30)
Al AT 'FH IR (04) & 3T 72T BRI A § 9cqd 99T & fow
Yogg 3o UIRa &, Rrenfefal &1 sa# & daer gt yeat & 3cav a7 &

1. AT S S R T R g e o farfie fr s ety i)

Define the concept of the elasticity of demand. Describe its different types.
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2. FENTH Gee T SR € 2 YU STt o STecrid SENT o STeUehieia U dTeehiet i d=qeri sht
o il

What is meant by equilibrium is an industry? Discuss the conditions of short run and long run
equilibrium of an industry under perfect competition.

3. IreuTirERR % faspfaa ask fagra i samen A seuTfierR % statd i uigedr i &t mi
T AT @l qh GrdlSsi 2l
Explain the ‘kinked’ curve theory of oligopoly. How far it is satisfactory explanation of price

rigidity under oligopoly?
4. Toawor % HWT ScaTesha fagr-q 1 TT% &9 H GHEATST qoT $He faawer % syfie fagra @ qor
i)

Explain clearly the marginal productivity theory of distribution and compare it with the modern

theory of distribution.

SECTION — B/HT°T @

(Short — answer — type questionsy g Scdd T g

Note: Section ‘B’ contains eight (08) short- answer typestions of five (05)
marks eachLearnersarerequired to answer four (04) questions only. Answers
of these questions must be restricted to two huhfility (250) words
approximately(4*5=20)

SAlC T T 'H IS (08) Y vyt QA T Tcdeh 9T & fow
ura 31k FUTRT &, el #! a8 & daer ar geat & 3cav a7 &

YA U2 Pl el aF AT TATT (250) Asey & 318 AT glar arfew]

Briefly discussany four (04) of the following;

T & O B aw(04) et ¥ Feav A & |
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1. oAty srefrrer st afearsT HfSTT gk & o weed i fora=m difse?
Define micro economics. Discuss its scope and importance ?
2. i fraw i e fifve |

Explain the law of demand .
3. T 3 it & ST T W 27

What do you understand by returns to scale ?
4. ITCIHICA AT AR T56 hT G | Selobrch Siad AT a5 B U- SRR 7 37 1 il € 2
AR |
Why the U- shape age of long term average cost curve is lower as compared to short- term average
cost curve? Explain.
5. USHITeRRY SHHd O 7 TR 2 2
What is meant by monopoly price ?
6. “oATS Tk Hifseh T3 21 30 Teaf 8 3eg 3 aierdn it fagr=a i s fifsrg |
“Interest is a monetary phenomenon.” Discuss in this respect the liquidity theory of interest.
7. RTel % T T 1 AT eI TaTT o)
Critically examine the Ricardian theory of rent.

8. TSR feaw Ay HMEUS i ST ARG HITST |

Discuss critically Kaldor Hicks compensation test.

SECTION — C/@8 T

(Objective — type questions)/ a&Jf@ss Fea

Note: Section ‘C’ contains ten (10) objective —type dioes of one (01) mark
each.All the questions of this section are compulsory.
(10*1=10)

oAl 1T T A F (10) TEIASS v QA I JqF uaA & v vk
3 RURAT & | 37 @5 & T3t T sifaard & /

Indicate whether the following are true or false;
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g # T eAfaf@a @@y § a1 aed |

1. vew fore & g wer AW A S A R
The name of the book written by Adam Smith is ©“ Wealth of nations”.
2. %=1 HIcT Ue 94 AITd YR30 AFTa 8 |
Raw materials and labour costs are variable cost .

3. qul gl S+ g4 T ST el € |

Perfect competitive firm always gain profit.

4. ITE S 3 AT 4 R G E |

Name the two main factors of production Labour&Capital.

5. 3rdfiet 3 SATIR =15 o Fa Yoy o1 g faam |

Schumpter innovations theory of trade cycles.

Indicate the correct answer-option;
e & AU @Y [Ashed &1 Iera AT ;

6. | TEEAT T5h LT <l [T 0T &

a. ‘oﬁﬁ?r?ﬂgtrm

b. e §Y AT AT

c. T Sfawemes ot Ted g% &
d. =g fafm =

The slope of the indifference curve indicates
a.The price ratio
b.Changing price ratio
c. Different level of satisfaction
d. The diminishing marginal rate of substitution.
7. T TSR] Had el IcdTa AT U6 hull STaf
a. T T T 3ohTS o A 2l
b. HT ¥ A= 3T oh S 2
c. T T A TohTS O 3fer 7
d. W e I R
A monopolist will always select to produce where
a.Elasticity of demand is less than 1
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b.Elasticity of demand is equal to 1
c. Elasticity of demand is greater than 1
d.Elasticity of demand is zero
8. Toreft amem grr wrfifa smfiier e stfreram @ afe seeht ofd @ -
a3, b SR TH FH AL, ¢.TF & a0, 4.3
The economic rent earned by any factor will be highest if its elasticity of Suppy is -

a. zero. b. between zero and one c. equal to one d. infinite

9. g¥marad FeferRaa ot fafite Semwr 2-
TR

TeHITRIshIcHeh Tfcnfirar
fguefer wehifRrmR

IER HREEACAIBEDS

Dumping is a particular case of following:

e o o

a.Monopoly b. Monopolistic competition c.Bilateral Monopoly
d. Discriminating Monopoly

10. 37qut SfcrfiraT & i arsh e & are e firar 2-

a. 31Ul T 6 HAOT

b.  ETHRT R o RO
c. o aEqe o Hor
d. STwE

In imperfect competition, demand curve slopes down left to right because of-
a. Imperfect knowledge
b. Government regulation
c.  Substitute products
d.  All the above
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